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ADV ALGEBRA 2

PART 1 - No Calculator
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Find the indicated real nth root(s) ofa. 2/

1. n=3,a=-27
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~ Evaluate the expression.
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" Simplify the expression.
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Find the equation for the inverse relation (write your answer in function notation)

12. y=—5x+12
X=-5y+1a
X-la = -5&1
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PART 2 - Calculator allowed WMeona | Hee colevla®”
+o Eindd roots & neeclesl
Solve the equation. Show work and round decimals to 2 places when necessary.

1. (x+2) -1—-19 X422 | 2 3x'-20=-2
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Let f(x)=5x" and g(x)=-3x"". Perform the indicated operation and state the domai!?.
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Let f(x)=2x"—1 and g(x)=x+2. Find the following.
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Find the following compositions and their domam

9. Let _)‘(.1:)--3.»:}é and g(x)=x+5 ' - 10. Let f(x)= 3x7?
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11. The cost in dollars of g gallons of gasoline can be modeled by C(g)=34g. The amount of

gasoline used by a Ford F150 can gmodeled by g(d)= 0.015(%“3 where d is the distance
in miles. Find C(g(d)) and evaluat& C(g(500)). Explain wha C(g(500)) represents.
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